HiHhT— 32 AR H
dall<-read. table ("E:¥¥dataal csv1. csv”, header=TRUE, sep=", ")

#1478 : 1D
#-2-4 178 : BMIEHK
#-5-7 178 : SRALEHK

d<-dal |

modul e (nuopt)
minSeg{-2#5tE I 2 ®|/NET A2 M
MSeg<-2##t5tEF DI Kt A > b &

i -——BAME R Z " hH o
#t—n0 Ty FETILOEH D E R EAERE
BinLogit<-function (beta, x, vy, pz) {

ones<-rep (1, nrow (y))

betal<-betal[1:v]
beta2<-betal (1+v) : (2*v) ]

ul<-x%+%betat
u2<-x%*%beta2

sumV<-exp (u1) +exp (u2) +ones
p1<—exp (u1) /sumV
p2<—exp (u2) /sumV

p3<-ones/sumV

p<—cbind (p1, p2, p3)
LogLis<-y*log(p)

Logl.<-sum (pz*LogL is)



return (LoglL)

#t—Ba Ty FETIORERY [MITLE, [[2]] TERER
BinLogitPP<{-function (beta, X, y) {

ones<-rep (1, nrow (y))

betal<-betal[1:v]
beta2<-betal (1+v) : (2*v) ]

ul<-x%+%betat
u2<-x%*+%beta2

sumV<-exp (u1) +exp (u2) +ones

p1<—exp (u1) /sumV
p2<—exp (uU2) /sumV
p3<-ones/sumV

p<=cbind (p1, p2, p3)

L<-prod (p"y)
return(list(L, p))

#i—— R O 7 EHE AR
CalcU<-function(b, x,v, z, r) {
Uisk<-array (0, dim=c (N, 2xv, S))

BF—N\SA—=—ZORA7
for(i in 1:N){
p<-rep (0, nrow(y[y[, 1]1==i, 1))

for(s in 1:8){
for (cn in 1:2) {



p<-BinLogitPP (beta=b[, s],
x=x[x[, 11==i,-11,
y=yly[, 1]==i, -1]
) [[2]1L, en]

for(k in 1:v) {
ymp<-(y[y[, 1]1==i, (cn+1) ]-p)*x[x[, 1]1==i, (k+1)]
a<-(cn-1) *4+k

Uiskli, a, s1<-z[i, s]*sum(ymp)

for(s in 1:8) {
if(s==1) {
temp<-Uisk[, , s]
lelsef
temp<-cbind (temp, Uisk[,, s])

t—t T A YA XDROT
if (1) {
Ur<-matrix (0, N, (S-1))
for (s in 1:(S-1)) {
Ur[, sI1<-z[, s1/r[s]-z[, S1/r[S]

if (&> {
Ui<-cbind (Ur, temp)
U<-apply (Ui, 2, sum)
lelse{
Ui<-temp



U<-apply (Ui, 2, sum)

}

Infomat<-crossprod (Ui)-outer (U, U) /N

print (paste ("fEEFRITHIDITHIRK", det (Infomat)))

if (is.na(det (Infomat))==TRUE | det (Infomat)<0.0001) {
Infose<-0
print "HITHMNHETEEEA")

lelse{

Infose<-sqrt (diag(solve(Infomat)))
}
return(Infose)

}

H#iH———Nuopt F RS #—#tHt
ML <- function(YY, XX, ZZ, BB1, BB2)
{
[ <~ Set()
ch <-Set ()
Y <- Parameter (index=dprod (I, ch), YY)
P <~ Set()
X <- Parameter (index=dprod (I, P), XX)
Z <- Parameter (index=I, as. array (ZZ))
Bint1 <- Parameter (index=P, as. array (BB1))
Bint2 <- Parameter (index=P, as. array (BB2))
i <- Element (set=I)
j <~ Element (set=P)
b1 <- Variable (index=j)
b2 <- Variable (index=j)
b1[j1"Bint1[j]
b2[j1"Bint2[j]

ul <-Expression (index=i)
p1 <-Expression (index=i)
u2 <-Expression (index=i)

p2 <-Expression (index=i)



p3 <-Expression(index=i)
ul[i17Sum (X[, j1*b1[j1, §)
u2[i17Sum (X[, j1*b2[j], )

p1[i]"exp (1lil)/ (1+exp (uTLil)+exp (u2[il))
p2[i]"exp u2[i1)/ (1+exp (uT[i1)+exp (u2[il))
p3[i171/ (1+exp (u1[i1) +exp (u2[i1))

Lopt <- Objective (type="maximize”)

Lopt™Sum (Z[i1*Y[i, 11xlog (o1 [i1)+Z[i1*Y[i, 2]1*log(p2[i1)+Z[i1*Y[i, 3]*log(p

3LiD, i)

HiH-——BARE & C C F Tt

HitH———H N ECER A

[isth<-1ist(0)
listr<-1ist(0)
listz<-1ist(0)

[istznt<-1ist(0)
[istbse<-1ist(0)

[istg<-1ist(0)
cBIC<-rep (0, MSeg)
[istp<-1ist(0)

Hit-—E HE i
#-v: Oy FETILOZEHDOH
v<-ncol (d)-3

#-Tn: T—2 DY A4 X
Tn<-nrow (d)

#-group : FTEYV IL—T
group<-rep (0, Tn)



#Ht——1 M 5EHF D D B —HitH
#—T—2 1% ID ARIEIZAE A TULNS—HiH
ID<-rep (0, Tn)

temp<-d[1, 1]
i d<-1
for(n in 1:Tn) {
if (temp==d[n, 11) {

ID[n]<-id
lelsef
id<=id+1
temp<-d[n, 1]
ID[n]<-id
}
}
#-N: A%
N<-id

print (paste " A%L”,N))

HHH——t R e R s & ——— it
y<-as.matrix (cbind(ID[1:Tn], as. matrix(d[, 2:4])))
x<-as.matrix(cbind(ID[1:Tn], rep(1, Tn), as.matrix(d[, c(-1,-2,-3,-4)1)))

#it——3E s £5 A 2 FETERASR
for (S in minSeg:MSeg) {

tr: BT A b4 XARNY ML (s%1)
r<{-c(rep(1/S,9))

-z : BT A FADFRBERRITE (Nxs)

#znt . BT A Y bADOFEEERAITH (Tnx(s+1)),+1 (X ID D5
zint<-runif (NxS, 0, 1)

z<-matrix(zint,N, S)

znt<=cbind (ID[1:Tn], matrix (runif (S¥Tn, 0, 1), Tn, S))



#b: Oy FETILD/INT A—2 BITHI (vks)
b<{-matrix (runif (2#vxS,-0.5,0.5), 2%y, S)

#-NC.Lis: AT A T EDEE (N£S)
NC. Lis<-matrix(rep (0, NxS), N, S)

rNC. Lis<-matrix(rep (0, NxS), N, S)
LO<-Of# L E

#Hi—EM 7 )L 3 1) X L Bsa-—-#ith

diff<-100#tttdi ff : AMAEDE
while (abs (diff)>=0.1) {

#—t T A YA X r OHETE
r<-apply (z, 2, sum) /N

HM—FEsTITADCDINTA—2 b DHTE
for(s in 1:S){

modul e (nuopt, unload=T)

modul e (nuopt)

zopt<-as. vector (znt[, (s+1)1)
yopt<-as.matrix (y[, -11)

xopt<-as.matrix (x[,-1]1)

bi1<-b[(1:4), s]

bi2<-b[(5:8), s]

sys <-System(model|=ML, yopt, xopt, zopt, bil, bi2)
sol <-solve(sys, trace=F)

betal<-as. array(sol$variables$§bi$current)
beta2<-as. array (sol$variables§b2$current)

b[, s]<-c (betal, beta2)



H-—EABDEs T AV MIBITHALAEEH
for (i in 1:N){

XX<=x [x[, 1]==i, -1]
YY<-y[y[, 1]==i,-1]

for (s in 1:8) {
NC.Lis[i, s]<-BinLogitPP (beta=b[, s],
x=XX,
y=YY) [[11]

}
rNC. Lis<-t (rxt (NC.Lis))

#-——FTEHEE z (N%S) EH
z<-rNC. Lis/matrix (apply (rNC.Lis, 1, sum), N, S)

tH—FEHER znt (TmS) EH
for (s in 1:S) {
for (i in 1:N) {
znt[znt[, 1]==i, (s+1)1<-z[i, s]

H-——HALEES, 1BEIOLELEDEZFRE
LLis<-t (r*t (NC.Lis))
LL<-sum(log (apply (LLis, 1, sum)))
diff<-LL-LO
LO<-LL
print (paste ("t AE", LL))

}
HH-—EN 7))L T ) X LfghH Y — i



HH-—F s T A2 FDINSA—FDEEH -
print (paste "E",S, T A FRT))

listb[[S]]<-b

listr[[S]]1<-r
listz[[S]]<-cbind(c(1:N), z)
listznt[[S]]<-cbind (d[, 1], znt)
print (b)

print(r)

W R E E i
Use<-CalcU(b, x,v, z, 1)
listbse[[S]1<-matrix (Use[-c(1:(S-1))1, 2%v, S)

#Ht—BIC & H——#iH
BICscore<—2%LL+ (length (b) +length(r))*log(Tn)
cBIC[S]<-BICscore

HH-——FmrTE Y IV — TE B

for (i in 1:Tn) {
group[il<-which (znt[i, -1]==max (znt[i, -11))
}

listg[[S]11<-cbind (d[, 11, group)

}
Ht-——E s v A U FETEED Y i

Hith———H i
cBIC

listh

| istbse

[istr

HitH——H TIXFE Y IREE—H###



AT —42
#-tREEEARR D A& Z
ditest<-read. table ("E:¥¥testdata. csv”, header=TRUE, sep=", ")

xtest<{-cbind(1,dltest[,-¢c(1,2,3,4)1)
ytest<{-ditest[, c(2,3,4)]
prob<-matrix (0, nrow(ytest), 3)

Mt A FEELRIERAT—2%2<7—2
tempg<-1istg[[5]]
group2<-tempg[dup|icated (tempg[, 1]1)==FALSE, ]
groupl<-data. frame (User ID=group2(, 1], seg=group2[, 21)

colnames (d1test) <-c (“UserID”, “cv”, “session”, “nosession”, “v1”,

mdata<-merge (d1test, group1, by="UserID”)
pred<-rep (0, nrow (ytest))

Hit—-5 7 A >~ E A
<=5
b<-listb

CalPP=function(beta, X, V)
{
betal <- beta[1:v]
beta2 <- beta[ (1+v): (2*v)]
ul <= x %% betal
u2 <- x %% beta?
sumV <- exp(ul) + exp(u2) + 1
pl <- exp (ul)/sumV
p2 <- exp (u2) /sumV
p3 <~ 1/sumV
p <~ cbind(p1, p2, p3)
return(p)

for (i in 1:nrow(ytest)) {

"V2",

"3



xt<{-xtest[i, ]

yt<-ytest[i, ]

g<-mdata$seg[i]

prob[i, 1<-CalPP(c (b[, g]), xt, yt)
pred[i]<-which (prob[i, ]==max (prob[i, 1))

choice<-rep (0, nrow (ytest))

for (i in 1:nrow(ytest)) {
choicel[i]<-which(d1test[i, 2:4]==1)
}

AR ERE
hit{-table (factor (choice, levels=1:3), factor (pred, levels=1:3))
sum(diag(hit))/sum(hit)



